M 0% $rY xt gdwmeFst
5!

QOx X% avEFNIT F= =10 2y
. 242y 3.3
Foor 348 212 IOx(-g) (_;)
= 9y 23x33 R Ox27 ‘2'6 I
54 625 625
nE
/%_-\
(®) 09XX----XO0 m-189H 37ic 2o , M-38X Tk
n- 113955 ME 81z Q@ tAMITIuns
a@g O :
(m-1)! 237 3 \?-3
m-3E]7( - —————— el —_—
P 2! (n-3)! (5) ( 5)
- (m-1)(n-2) ) 23.3%73
mn - 3 S\r\
- g3
¥ vaﬁ (m-1)(n=2)¥ 2%~ 5"] A3
3h~2 T
(3) Pmﬂ - M (}\)X\ Snu _ n 3
Pan M)(n 2). ‘?’ w2 5 %
P""">1T¢x<‘c PEY)
(h ~-2)
n23rE=sns 3n> F(n-2)
an<g 1o
ne 5
Pemr
e —L <) Becy 3N ) 29 g &
3 o 5(“.1)*(\:) In< 5h-2) »n S
m> 5.
Py i) gece ns5
Prn _
oYy Povt > Pm (n<h)
Prei = P (m=5) Clsdo' S
Pritr1 < Pay (n>5)
Ps<Pa<Ps ePy >Po>Pe>---- %3

W3z Pty K tudmE (M=5.6\TH3



